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Revision WHOLE NUMBER

Exercise 1

1. Copy the following and find the answers :-

(a) 468 (b) 678 (©) 499
+ 0022 + 396 - 368
904 8008 2345
e f
) - 717 ® + 1764 © + 7656
Exercise 2

1. Calculate the following:

(a) 27 +34 (b) 76 + 37 (c) 136 +85 (d) 147 +135
(e) 351+ 279 (f) 2100 + 3700 (g) 4600 + 2700 (h) 6450 + 3350
(i) 58-37 () 96-39 (k) 170-49 () 185-118

(m) 270- 195 (n) 865- 495 (p) 3100- 1200 (@ 9750 7450
(r) 530 + 880 (s) 4320 620 (t) 5650 + 3700 (u) 99805320
(V) 5555 + 4445 (W) 9090- 2100 (x) 2080 + 3040 (y) 9870- 8990

2. The population of Aytown is 48700, Beestone is 57500 and Ceetown is 40000.
(a) What is the total population of Aytown and Beestone?
(b) How many more people live in Beestone than Aytown?

(c) Ceetown has 16500 men, 14800 women and the rest are childre
How many children are there in Ceetown?

. V % BE~
Exercise 3 * @9 %&
~ (

1. Write down the answers to the following :: " %

) (e~

(a) 22 x 10 @ ) 10x39 {c] 104 x 10 \% (d) 10 x 340 \‘
(e) 2020 x 10 (f) 34x100 ¢ {g] 100 x 40 (h) 101 x 100 7 «

(i) 2010 x 100 “WZ (j) 8100 x 300 (Z/®~(k) 21 x 1000 % (I) 1000 x 70 :g'g g
(m) 200 x 1000 (n) 3050 x 1000 ~ (o) 1000 x 1000 5000 x 3000 (4

2. During the summer six thousand midgies are produced every da* a,

How many midgies will be produced in July?
i<
e % O
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Exercise 4
1. Calculate the following:
(@) 571 (b) 435
x 3 x7
(e) 207x6 () 824x8
2. Calculate the following:
(a) 248 b) 546
x26 x59
(e) 204 x24 (f) 157 x 83

Exercise 5

1. Calculate the followindivisions:

(a) 20 = 10 (b) 300 = 10
(e) 1000000 =10 (f) 400 = 100

(i) 99000 =100  (j) 120400 = 100
(m) 80400 = 200 (n) 1 million + 2000

Exercise 6
1. Calculate the followindivisions:

(a) 7 (3808

(e) 420+ 12 () 513015

(i) If a box can hold 8 teddy bears, how many boxes do you need for 248 bears?
() If a fish farm has 23400 fish in 30 tanks, hoany fish does each tank hold?

Exercise 7

1. Round the following to the nearest: (i) 10 (ii) 100

(@) 47 (b) 513

Exercise 8
1. Calculate the following:
(@) 8+3x5 (b) 24+8i 2
(e) (7T+4)x5 2 (f) 32+(6i 2)+5

(b) 5|9265

(¢) 708

x 9

(g) 1057 x 4

704
x 72

(g0 941x19

v™

VAR

()

(h) 3241 x 237

e

200000 = 10
5400 =+ 100
4400 + 400

14000 = 10 (d)
8000 =+ 100 (h)

2000 + 20 (1)
10 million = 50000

()
(9)

(k)
()

(d) 85216

(h) 28730 + 34

(e) 67434

(g) 2944+ 23

(iii) 1000:

() 2974 (d) 267415

(d) 13+25 4x3
(h) 13+ (25 4)x3

(c) 15x6i 42+6
(g0 5x(61 2)+10
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Exercise 1

DECIMALY

1. What does the 2 represent in each of these numbers:

(a) 12-789 (b) 5-203

() 89-542 (d) 0-1273

2. Arrange the following groups of numbers in order, largest first:

(@) 0-5,0-09,0-14, 1-09, 0-091

Exercise 2

1. Calculate the following:

(b) 1-003, 0-904, 0-409, 1-099, 1-1, 0-801

(a) 25 (b) 13-4 () 2284 (d) 12523
+ 14 +2:7 +33-82 +54-78
(&) 44 (f) 438 @) 6846 h) 778
-1.2 - 329 -2977 - 5893
i 3-7+12 (G) 52+39 (k) 18-6i 3:5 () 23-61 15-8
(m) 15-81 1-01 (n) 5-91 4-09 (p) 0-96i 0-4 (q) 54-8-8-91
(n 0-47 0-17 (s) 12-1i 7-84
2. H A scientist puts 3-9 ml of hydrochloric acid, 4-56 ml of
s, ¢ acerbic acid and 9-65 ml of citric acid into a test tube.

(&) What is the total amount of acid in the test tube?

L)

3.l n a formula one
(a) What was the combined time?

Exercise 3

1. Calculate the following:

(a) 434 (b) 827
x 4 x 7
(e) 57x8 (H 42-3x4

‘ (b) How much moreitic than hydrochloric acid is there?

race Neesonbdbs track ti mes

(b) What was the difference in the times?

(¢) 878 (d) 11938
x 6 x 9
(g 135-9x5 (h) 7x37-521

(i) Kevin the Camel eats six 3-71 kg boxes of dates every month.
Karen the Camel only eats five 4-09 kg boxes. Who eats the most and by how much?

(e) 0-9123

wer e



S1 Upper SPTA MATHEMATICS BRFMENT HOMEWORK BQE&
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Exercise 4

1. Calculate the followig divisions:

(a) W (b) ¢ lo1-24 (¢)  7[a179 (4 gl1z912

(e) 35.7=+7 () 57.06 +6 (9) 137.58+3 (h) 0.072+8
(i) Three kegs of beer hold 304litres. How much beer does one keg hold?

(i) Marilyn buys eight concert tickets for £182.
How much was it foeach ticket?

Exercise 5
1. Calculate the following:
(a) 84 x 10 (b) 98 x10 (¢) 762x10 (d) 1871x10
(e) 641 x 100 (f) 091 x 100 (g) 4021 x 100 (h) 00054 x 100
(i) 5213 x 1000 (j) 08765 x 1000 (k) 10041 x 1000 (I) 42 x 1000
(m) 400x0-0005 (n) 0-08x30000 (p) 0-8x6 (9 0-8x60
() 0-8x600 (s) 0-8x6000 (t) 0:8x0-6 (u) 0-08x0-6
(v) 0-008 x0-6 (w) 0-0008x0-6  (x) 0-:09x0-3 (y) 0-03x0-3
(z) 0-006x0-7
2. Calculate the following divisions:
(a) 286 = 10 () 19-8 =10 (e) 762:10 (d) 1871:10
(e) 641 =100 (f) 1091 +100 (g) 42-=100 (h) 054 =100
(i) 521-3 = 1000 (j) 0-8+1000 (k) 1-004 = 1000 () 9=+1000
(m) 12+20 (n) 45+500 (p) 56 + 7000 (9) 720+ 8000
() 350+ 5000 (s) 0.3+60 (t) 0.9+30 (u) 0.4+200
(v) 2.4+0-8 (w) 4:-55+0-5 (x) 6+0-03 (y) 52+0-04
(z) 0-54 + 0-006 o~ e
,@/,\Q
Exercise 6 /(( ‘\Mé J
1. Round these numbers to the number of decimal places shown in the brackets: \U //; /}\
(@) 5-13 Q) (b) 7-851 () (c) 8:736 Q) (d) 6-3492 @) A
(e)4-8912 @) (f) 3-2915 Q) (9) 47-999 243) (h) 3-999 88 3)

2. COPY the following and fill in the correct numbers to replace the squares:

@ 7-1HNA ®) s WiE c) H-27H
+ - HWs: - 0207 3-8 4
9-170 3-096 +6-6H9

Bz 576
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Exercise 1:
1. For each shape, say what fraction has been shaded :-

(a) (b) (c) (d)

2. Simplify each of the following fractions :-

7 3 14 11
- by — = d) —
@ % ®) % © % @ 3
12 6 25 27
il f) — — h) ==
©) 75 ® % @ o5 TY
3. Find :-
(a) % of 66 (b) % of 48 () g of 27 (d) g of 616
Exercise 2:
1. Change each of these top heavy fractions to mixed numbers :-
15 16 42 9N
(@) & (b) X () & @ Z
25 63 122 629
(e) r (f) r (9) ETH Q) 5
2. Change each of the following to a mixed number and simplify where possible :-
30 25 131 100
(@ X b) Z (@ L @ =
305 78 1005 100005
&) 2 " Z @ (n) 1000

3. Change each of the following mixed numbers to a top heavy fraction :-

(@ 3% k) 4% () 72 (d 102
(@ 7% (f) 54 (@ 10k ) 1B

4. How many jr— litre glasses of juice can I get from :-

(@) 2 litres (b) 10 litres (c) 1Ell"rr'e. (d) Si—li’rres ?
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Revision FRACTION
Exercise3:
1. Find :-
(a) L ofae (b) 1 of39 (c) 1 ofea (d) 1 sfe3
2 3 4 7
(e) 1 ofaa (f) 1 o165 (g) 1 o880 (h) L ofor5
12 15 J 20 75
2. Find :-
(a) % of 36 (b) % of 24 (c) % of 21 (d) g of 35
9 5 7 11
e) — of 210 f) — of 144 — of 648 h — of 143
()10 (}12 (9) 5 (h) 3

3. There are 240 first year pupils at Gracetown High School. % of them are boys.
(a) How many boys are there ? (b) How many girls are there ?

4. Two thirds of the days in June were sunny days.

How many days were sunny ?

5. A computer predicted that in February 2007
two sevenths of the month would have snow falling.

How many day would not have snow falling ?

({2 L‘_,
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Exercise4:
1. Change to a mixed number :- (a) 2?—2
2. Change to a top heavy fraction :- (a) 4%
3. Copy and complete :-
2 , 1 4 ,2 8 _2
@ 5+3 ® F+3 © 5-3
l 3 1,3 2 3
(E} 2; + 3: (f] 1? + E (Q‘] 5? = 3;
4. Copy and complete :-
4, L 2,2 L,.q11
(a) 5 %3 (b) Ty (c) 23x15
3:2 Lz42 5.5
(3}6'3 (ﬂg 3 @?‘14

5. A rectangle has length 4% metres and breadth 24l metres.

Calculate the area of the rectangle.

6. A rectangle has an area of Bi— metres.

If the rectangle has length 52- metres, find the breadth.

®)

()

(@)
(h)

(d
(h)

83
3

10=

4 _3
5 8

1L _-3
53 24
5 3
56:(1?
5 92
39-23
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FRACTION

Exercise5:  Simplify all answers and give final answers as mixed fractions if possible.
Do not leave as top heavy fractions.

l}n}%x;; b)%x% c) 3%:&5% d) ngﬁ%
4)3)%-% b)%-% c)E%-E% d}E%-tt%

5) My flight to New York is to last ?% hours, but I have only flown 4% hours of it.

How much longer will my journey take?

6) Before his diet, Tommy weighed 13% stones.

He lost 2% stones on his diet.

What was Tommy’s new weight?

7) A wooden box weighs E% kg.
It holds 6 large cartons of soap powder.
Each carton weighs 3% kg.

Calculate the total weight of the box and cartons
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Exercisel:
1. Write each of the following as a fraction and as a decimal :-
(a) 41% (b) 93% () 7% (d) 23%
(e) 99% (f) 11-5% (g0 15% (h) 825%
2. Write these percentages as fractions and simplify :-
(a) 20% (b) 45% (¢) 15% (d) 75%
(e) 5% (f) 35% (g9) 66%% (h) 12:5%
3. Use a calculator where necessary and change each fraction to a percentage :-
8 12 5 11
il by = = d) ==
@ = ®) 25 O @ %

4. Andrew sat a Maths test which comprised of twenty questions each worth two marks.

Andrew scored 32 marks. Worite his test score as a percentage.

5. Patel scored — for French, — for Music, — for English and — for Maths.
2 25 30

List Patel's subjects in order from best to worst.
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Exercise2: —
1. Calculate :- ‘/
(a) 20% of £60 (b) 40% of 250 kg (¢) 60% of £150
(d) 15% of 120 g (e) 8% of £66 (f) 38% of 500 cm
(9) 12% of £80 (h) 12 % of 240 € (i) A %of £8

2. Eighty percent of the 560 videos in a shop are rated 15.

How many videos are rated 15 ?

3. On heliday, Calvin spent 75% of his £450 spending money.

How much did Calvin spend ?

4. Margaret took £350 on holiday and returned with 15% of her money.
How much money did Margaret spend on holiday ?

5. Of the 380 goals scored in a season,
15% were scored by penalties and
70% were scored by the home team.

(a) How many penalties were scored ?

(b) How many were scored by the away team ?

6. An advert makes 2% of an hours television.

How long is the advert (to the nearest second) ?
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Exercise3:

1. Write down the simplest fraction for each of the following percentages :-
(a) 50% (b) 20% () 100% (d) 25%
(e) 33%% (f) 5% (g9) 10% (h) 1%

2. Find without a caleulator :-

(a) 25% of £840 (b) 33L% of 96 metres (c) 20% of 80 €
(d) 5% of 350 km (e) 1% of £20 (f) 50% of 121 kg
(9) 33L% of 135 mm (h) 10% of £5 (i) 5% of 380 €

3. A 350 gramme microwave pizza has only 5% fat.

How many grammes of fat does the meal have ?

4. Find :-
(a) 1% of £800 (b) 2% of £800 (¢) 7% of £800

Exercise 4:

1. Write down the simplest fraction for each of the following percentages :-
(a) 75% (b) 30% (c) 80% (d) 70%
(e) 331% (f) 662% (g) 40% (h) 30%

2. Find without a calculator :-

(a) 50% of £9 (b) 331% of 360 metres (¢c) 80% of 90 €
(d) 25% of 300p (e) 60% of 240 p (f) 662% of 121 kg
(g) 70% of 520 cm (h) 75% of 9600 kg (i) 75% of £440
(j) 30% of 3100 km (k) 75% of £5 (1) 662%of 12 kg

3. Explain how you might (mentally) calculate 15% of £80.

4. Explain how you might (mentally) calculate 1?31 % of £80.

5. Value added tax (VAT) is calculated at 17% Y.
Find the VAT on a wrist watch priced at £240.
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